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TOEIC IV – Pronouns (4) 
These are various pronoun combinations that appear on the test: 

Numbers next to the pronouns tell how many times it is used in the passage: 

1.   you (3)     your (2)  yourself (2)     she (3)         her (3) 
 

 I ran into _______ friend Jane and _______ said ______ got ______ an 

 interview at ______ company because ______ can't get a job ________. 

 If _____ interview goes well, ______ boss said _____ will give ______ 

 a good job in _____ company. Have a great interview to help _______! 
 

2. I (4)  me (2)  myself (2)         it (6)    its (2) 
 

 _____ is a miracle! ______ found a new apartment _______, and _____ 

 is perfect for ______. ______ is near the beach and ______ view is so 

 amazing. ______ can even see the ocean from _____. ______ plan to 

 watch sunsets from ______ balcony. Amy loves _____ and really wants 

 to live in _____ with _____, but ______ really want to live by _______. 
 

3. he (4)     him (3)      yourself (2)           we (2)      us (2) 
 

 “Do it ________!” is what _____ told Ben when _____ asked _____ to 

 do his homework for ______. ______ is so lazy and _____ will never 

 improve if _____ do everything for _____. If _____ asks ______ again, 

 I'll tell ______, “Doing things ________ is the only way to learn!” 
 

4. she (5)  her (1)      herself (3)  it (4)   itself (2) 
 

 Amy works at ______ father's company and ______ has designed a new 

 robot all by _______. ______ spent years working on ______ and now 

 ______ is finally done. ______ is a very intelligent robot and can teach 

 _____ new things. ______ designed ______ to think for ______. _____ 

 is really proud of ______ for creating ______ all by ______. 
 

5. they (4)    their (2)  themselves (2)  we (2)    us (2) 
 

 Pam and Tom have decided to sell ______ company to ______. ______ 

 have been running it ______ since _____ started it 25 years ago. _____ 

 were ______ first customers and ______ go there a lot. ______ want 

 ______ to run it because ______ are too old to run it ________. 


